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September 23, 2015

Sep 16­11:58 AM

Warm‐Up
What is the soluon set for the 
equaon 3 + x 2 = 7 if the 
replacement set is { ‐2, ‐1, 0, 1, 2}

Sep 16­12:01 PM

Clear Learning Objective

You will be able to solve equations with 
one variable on both sides. 
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September 23, 2015

Sep 23­11:45 AM

Sep 16­12:07 PM



9.23.15 ­ Reg. ­ Solving Multi­Step EQ ­ Flipbook Notes.notebook

3

September 23, 2015

Sep 16­3:01 PM

Sep 16­3:02 PM
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Sep 16­3:02 PM

Sep 16­3:03 PM
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Sep 16­3:03 PM

Sep 16­3:04 PM
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Sep 16­3:05 PM


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

